ATOMIC ENERGY EDUCATION SOCIETY

Worksheet (Module 3/3)

People As Resource (Economics chapter-2)

Class-1X Subject- Social Science

Q.1) MCQs- choose and write the correct answer:- (4*1=4mark)
I) Disguised unemployment could be traced in which sector?
a) Mining activity b) Service sector
c) Agriculture d) Social forestry

I1) The workforce population of India includes people from the age group of ....

a)10-59 years b) 15-59 years
c) 20-59 years d) 25-59 years
[11) In urban areas ............... .... has become a common phenomenon.
a) Educated unemployment b) Seasonal unemployment
c) Disguised unemployment d) None of these
IV) Unemployment tends to increase .................. overload.
a) Transport b) Economic
¢) Population d) None of these
Q.2) Whether the following statements are True or False:- (2*1=2)

a) Profession and employment are not different.

b) If a ten years old boy does not find a job, he should be accounted as
unemployed.

Q.3) Answer the following questions:- (3*3=9)
a) Give three differences between seasonal and disguised unemployment?

b) Why is educated unemployment a peculiar problem in India?




¢) Who is an unemployed person?

Q.4) What are the causes and effects of unemployment in our country? (5)




